dijet

/dchi

0.25

=

Ratio to CMS

1/0 4, doy

0.2

0.15

0.1

0.05

0.5

8000 GeV pp Jets
I e B B B B B B B B B I
B Di-jet X (4200 < Mjj) :
—_ m CMS __
. Alpgen+Py6 2.1.4 6.426 z2-CTEQ6L1 :
I ¢ Sherpa 2.2.2 default :
- | _
| i |
e .’ i
D ‘ ...... -
U 4 :
— e ." ............. E

. .......
B i :
I | | Eaan i I | | | | |, | |
— ' T ! | | ) I I I l I I I I l I:
_ ‘ e .
u v _
L. | | l

: ° 10

- — aly_ 1y 2|
Chldijet_e

Rivet 3.1.0, = 26k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


